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1) QI IR H/8 T IR, V/¢ TR TG U © TR N B2 Tz | I 5794r
s 3972

g ; ¢f7, ot x
O, X- (X/8 +VX/¢)=V
T, X- Yax/0=0

q1,0X= 0*0

1,x=30 Ao
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AT : AT RIS (1) BT AR, 'qF GG A0 2 | A - TSsrs71 57, @Tetd, @Teta
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AT : AT SRRKITGR F9 70 | Y ST S 3 5fete T s | @ o faiis ammead
TR IR 5T D Y O S | TR oo ot ifs Aikadeie |

5) When you make a promise, you must notgo __ on it.

1) around
2) anng
3)b

)

v 4 back

T : T O A5G 3, (O U (AP I TS 55 I 11 (a) go by - TRGEFTS 2937
(b) go around - IR @3 ; (c) go along - TS 23T ; (d) go back on - AREFRG
AT Y1 The answer is (d).

6) 2T ARCPL U0 AT \3 DI WP 3 SYJ A3 Po?
1

N

3
v 4

)1
) 0
) 90000

) 90001

YT = B QIS paod JA Y= 100000
B5TH TF I8 S UT= 9999

=> Q3= 100000 - 9999

= 90001

7) We helped him ___ the work.
1) in finishing
v 2) to finish
3) had finish
4) finishing

4T = Help verb - i< infinitive 132 bare infinitive 503 IREIK 51 T | OR 3 B6A
to finish or finish.



8) 3 cm, 4 cm Y38 5 cm ITNY RER R[50 (et stfeieg afo (s1erss (ol I-1 T (SR
T o7

T = T (ST AL =3V/(33+43+53) cm
=3y216 cm

=3\/6 3

=6

9) ‘Black and blue’ means-

1
2
v 3
4

mercifully
hopefully
mercilessly
sympathetically

~— N N

14T : Black and blue - @78 221 A1 to beat mercilessly | S@G®&@ mercifully (adj)
PP AR Y /R A, sympathetically (adv) SIFERA A 132 hopefully (adv) -
APMARLPC |

10) ‘OIF foI%TH T AR’ 9 7 3RHK -

1) He was brought to brim

2) He was punished

v 3) He was brought to book
4) He was dishonored

14T : Bring to book O RoI% ) <11

11) What type of man is quite the opposite type of ‘Supercilious’?

1) Disdainful
v 2) Affable

3) Haughty

4) Wicked

AT : supercilious (AM5AP)- (adjective) synonyms: arrogant, haughty,
conceited, disdainful, overbearing, pompous, condescending, superior,
patronizing, imperious proud, lofty, lordly. Affable-5aggioTel



12) T 2P AIPFIAR 0% ST AR Q0% TR TS I | BGH I AT I V0% |
TSN REE X631 FOTA (T IIA?

1) 15%
2) 20%
)
)

v 3) 10%
4) 30%

AT : GG ST AT PR (b0 - YO)% = 0%
APHTT JMIRACY ATH PR (A0 - YO)% = 30%

(AT 9T = (YO + 0 + 50)% = »0%

T Ry e = (500 - 0)% = 30%

13) RSP FFPD IR TLHO

1) SAGIREA
2) RSl
v 3) 53T
) TSI

N

M 2 PP AN CHIRAR AT BIE O3 S (50 IR AI-2[7 S Q S0 (5P0
TRMEW | BT K PRATAT \3 FRACPT TR A1 G Q (PO ACS 2 | AR AT TRIFS 50
IO A 51w (57w AfD | FEAER (ot QPO T 53T R QST (WP FRESAT Jal
(IR 2P B |

14) am <o o o ?

15) 7i0 ARG @R 98 180° X QIO QYKL b @17 A2

1) ifaf2o e
2) STC1Y



v 3) RS @I
4) 1T @19

AT : T S 130 @R TR Svro BT 2 QG WORCE FO0RKP (@1 0.

16) QI ISCHAR IR TS 4V2 9P LA, P ISCHAL CHFAPe] PO 57 93372
1) 32 I5f 9T
v 2) 16 I5( 93T
3) 24 I5( AT
4) 8 I5( 1T

I 2 AT Sifd, ISCHCA] IR S = av'2

av2 = 4v2
=)a =4vV2/N2
=)a=4

STOAITL, ISOFCA] CFaPe, a2 = 42= 16 Isf AID

17) Q30 KA @UR TR WPO I051 CFaPe P SRARUR JF-F QAR B9 WIS 514
CHRAPCER POBI?

v

—

Y

W N

)
)b
)8
)R

N

AT+ T DI, S GO O = X

R BoR TFG A5 CFaPe = X2

KA G - BRI (x/4) CFaDe = x2/16
S X2+(x2/16)

=x2%(16/x3)

=16 Q9

18) f5-20 RPIPTCSN IRATCOR TG <TG AP 2

BIIESE]
GIRE|
APRTPT
SIIE

1)
v 2)
3)

)

N

1T = 10 - 20 RTPI0o1 AR QA <TOTAPTR] BN 33T | DO /1B 2050 T B - 20
fRPIPICOR AYT 2] \SHIHR RATF L I WG S0 I P |



19) SUIR-ICCIR AFOINGS P (T (ST 2 fsiaeg?

v 1) FeA

2) CR[

3) AR
) ST

N

A : BAI-IACCIR IR ATSHTAT XA TIPT (A A0 ARG B6R-9(d AR @I
3 RRI7R BASeT SRFS SR \3 IG5 AT 575 sreRysh Wil Ao 31| 1R 51
S J157 fa orfFe uaft 7sasdt | Romesmm sRaT Wt aft 2 AR 6K I9EK
SR |

20) 03 R8T @1 K] T00 A P WIPT A?

1)ofo
v 2):
3)>T
4)8 T

AT ; J00A R8T @I [ (W 2 b =1 @it I

21) VP GATHS AR SR I05H Y S¢ QST FAE 85¢ | FANT 307?

1)>¢

v 2) 50
3) 20
4) 5

4T ; R,

AT '

O, (RF)2+ H¢=8>¢"

T, (RF)2 = 85¢->¢'

T, ()%= 800

dT, RP=R0’

q7,3P= >0

22) He fought to defeat the enemy.

1) to the quick
v 2) tooth and nail

3) to and fro

4) set out



I : tooth and nail - I ARIASIR G FAT | Set out WY ISR ASIl, to and
fro - afT - O ; to the quick - 9B AT phrase | answer - (F) |

23) &7 J1ATd @PTA0?

AT : TIPS IIEATAT0 ©% | TARRIA =07 &7 A1 fak1oRTe | mikmar <o &% Jrard wIiuy
| FIAPORK &7 1A LA AP |

24) Choose the correct synonym for ‘Extempore’

1) Planned

2) Improvise
v 3) Impromptu

4) Immediate

AN : Extempore - “[/2RG3A ; T2FG| Planned - “iR®TO , Improvise - GIe%{Ge
O GERA 1 24¥S 4T 5 Impromtu - Ao , *[{eB8Ro3 |

25) Had | been a king, |

vl
2
3
4

would have helped the poor.
have helped the poor

had helped the poor

helped the poor

S— N N N

14T : Third conditional - Q< structure X AAH Past Perfect tense AP, A
Subject + Would /Could /might + have + v3 IK29 X[ |

26) The antonym of the word “Benign” is-

1
2
v 3
4

Blessed
Peaceful
Malignant
Beginning

N— N N N

4 : Antonyms of Benign- destructive, insidious, malignant, noxious,
pestilent, polluted, tainted.



27)TMx 2 + 1/x2=38W, 0@ x - 1/x = ?

v1)x6
2) =40
3) £5
4) +7

AT : CROTT TG,
X2+ 1/x2 =238

T, (x-1/x)2+2.x.1/x=38
T, (x-1/x)%2=36

a1, x-1/x = 6

AT : "SHSTY S ST | SRR (1) T Fo¥efd Ol SR AR5 X[ 3 RO 20 QT s
O3 A0 ST | SR RICTET PAE <13 - S TH SR |

29) TP FKPIK AT W2 IHIOT -

AN = RSP FRHPIRA AL AR PHPOT LA A5l (ST | QG (SARet T 1A
SRR ALTT \3 4T TR PRTEIF AL I AT @PIG SHKPIR AP WRAGIN |
TP STRRIYIER W8(d) TR JFATS WIP A5 MIE R | IR [RER Reeis®
AT T AT RERRS | TIORT SR STor9iRs TeTd HIqarT Forpr | Ao WiRd
FINAT D - 24Td T WRATA! |

30) UF AT 240 TP FOIE (133 ved ¢ @, T &1 9B o1fever P (om0 e aafsi
1B e 1 Tl 1 20 | P ARG Polb (1feiet ecafmer?

1)16
v2)15f
3)137



4)14%

AT : AP,

@ x T orfere Rcafze) v,
(240/x)- (240/x+1)=1

=> 240x+240-240x=x(x+1)
=> 240=x2+x
=>x2+16x-15x-240=0

=> X(x+16)-15(x+16)=0
=>(x+16) (x-15)=0

STATR, P AT 15 0 co1fere Recareet |

31) What is the verb form of ‘Power’?

1
2
3

va

Enpower
Powerful
Powerfully
Empower

~— N N S

AT : Power (n) WY1, 01| <Ri0d verb form X% empower (ITSR <G 1 Faol
A A1), powerful (RG> W32 powerfully (SR 1 2RETSIE ) <17 70 TAPCH
adjective Q3R adverb |

32) ‘A <Ffb1 P Aor fA-

AN ¢ T ¥AO] S A0 AT - & -+ Tl | AP Y - T 2O 511 X7 - 5T (57 + ),
R (T + ) 5T (53 + ) |

33) What is the plural of ‘Magus’?

1) Maguses
v 2) Magqi

3) Magus

4) Magux

74T : The plural form of a magus is magi. Magus (n) - “{A12% @32 Plural
number 31 I7A6d T Magi TR WY {0 T |



34) oo RER @ aRodT Pa?

AT : SATIGPR 1 TSR Ra) 2afod1 Bca g5=i1e1 | @ RaRTS b - » <o s 211 « R
AT RGO TRFG |

35) eI ATRBIF Fr$T @ 20 0 HIT?

1) Yaub
v 2) oW
3) YarYy
4) YpYY

JITAT 2 D& S WBYK AT TP FPFT 51K A5 QF XIRIPCP GIRAN I DS T RIe
RPFT PRI 5190 B | P IEPIT NIRPBI <TRCTBR o7%7 \3 A0 afowerd aite «afo
SITRGR FFFTAIMS ARG I | TASTTOTEP \3 7Ta ARG O Freraimod [Reca s[)7 1esicar
21a SIS O AT \3 FLATH 5108 (B | 59 GBI daws 1 Frsraifod Reca fafes @1
JACE PO S )P ST 5T | fizo 29 IR, ST, SSRGS AAR | B (WD
AR5IZR Y4 GIBRR Rifoq IeRAfod U ARG 572510d 1 Tafbee Tz st fast Besia orrera
I

36) TM GNP R PEARD \3 THHTA PR WG 5 -3 T, B 7 PERCDI QT
IO IEARD TORAT PO I (AL ?

1) 30%
2) 35%
3) 45%
v 4) 40%

T : PERD IS (TCACZ =(2/5* 100)% =40%

37) What is the synonym of the word “Repress”?

v 1) Control
2) Reoresent
3) Repute

4) Republish



AT : Repress (V) - R A1/ G 1T Control (v) - 78d 31 /199 341 , Represent
(v) - afsfdfss 311, Republish (v) - @7 Q32 Repute (V) - SRR REIGART AT SRR
@I g 298| T Kb 515 $6d ()

38) 3 X IS AT ACH (RIS ST 5T 2T -

1)q‘f§ﬁi‘

2) ®

3)30%%3‘
v 4) b =0

AT 2 3 A <A AT de @D 8 T fRICAMITR 7 TWRIFD | 53 W1 A0 WD
SRl AT b TAfdb 20 o |

39) ‘WAR' A RAIG <A

1) il
2) TS

v 3) K
4) Tafo

I 2 WA A7 RIS X137 AT B WA AT WK WA - A< ARGX AT g, AT |

40) ‘He acted on my advice’ - complex form of this sentence is

1
v 2
3
4

He advised him that he acted

He acted as | advised him

He acted according to my advice
He advised him and he acted

N— N N N

M4 : He acted on my advice I3 Q@b simple sentence | Complex sentence
WA clause @ as, since , because, if, till, although 397 711 L& W |

41) 1 +54+9+ .o + 81 =7

v 1) 861
2) 21
3) 840
4) 841

AT : GRIM0A , N - BT "M =a + (n - a)d
A, 81=1+(n-1)4
a,81=1+n-4



q4n = 84

SLn=21

SR = 21/2{2.1+(21-1).4)
=21/2 {2+80}

=21*41

=861

42) QTAD G <72

—

v

N

) BT
) el
3)
4) Por

AT : GFRPTR AT (G, OF, BT, I, S1&, W61, (AP - YfF, TR, TR 2AGf0 |

43) 5725 I IR @I D PRI IICsM B A2

1) FgERS
2) oz

) XTI
4) TSR]

v

wW

AT ; 2K SRR BIANR QSR X FRIK FTHRN (FLET) ISR "SIOHI B GO’ AP
AP0 (ORI} SRR G (PO QPT0 (G2 BIRPR B a1 ICG | A BIRPA AN fod 14
o Gefa (ot foe | @ [U6dR Ty Ry o 37101 Geipd \3 SIS ST SIbay
R 21|

44) T 47 S Reoew @12

AN : TFEFRTAR T FERATIR @ A% 2,01 T&EIE I 19,99 2 Q 7 A AR, TR
QS AFET 3 T T 4+ A =W |

45) IR AU HIIA BT 2T-

1 E G CEACRES
2) PIetco Arase



v 3) Pt Jreral zon
4) PIEICTR oraTe

T 2 D68V FICE FEACHI FARPE A BI AYF 5T (01K AIR AT BT | AT AT BT
5T OF 3 Sb¢q S B FIAAIZGT BT A5 | FED TR ST Al B2G1PT 2 1R
5T SR omd @& A <R S #my|

46) RO FHPIE QT R, 9, €, », X4, YIATIOR FRAO! SR PO?

1) 8¢
v 2) 090

3)RY

4) ve
AT D GIKT: R0 ¢ » 5900
QEd : 58b0Y

SO AR ST =09 + OV
=00

47) PRFI DASRAIETD 575 “ O TAGRA RO (@1 SR WMo 222
1

N

) TTb
) T
3) @
v 4) IR

T : DTS TTTSIAAT T4 G IR TSI FLP | 2053 K T A 336
LAPTRIG 2| A *RIS T 3G, ©F, Guonfd, foar, o, waif, B, ©fF, @onfe, eam,

48) 5TER AT -
1) Ranes
) GTT

v 3) 5kl
4) faewme

AT = HER AR 77 HROT | 5ER Ao I . MoRTS, G, RS | 9F9f - ST, <P,
PR , TSAIPIS ToNR | SRoT <1 2T 5, Bofd, IR el



49) St P Bf 1D M2 IFTSIR (S0 (57 @, T W10 [z a1 20 G s vo [
1T BRHT I | ST T (AP TO BHO (HHAZET?

A : 41, YD S X0 P THER SR (Srsi&e | B1ae @Il MR s (S - ) PO |
IO, B/ (b - P) = SiNVo°

A, T/ (O -F) =5/

T, 33 = (Ob - F)

M, 0T =S

A, T = db/0

qA,P=

50) >»8b- e TP AT @ AT GEID SITHARETH TATod Gl AR IR 23R
AMAET?

AT 1 S98b HIE JOCT CPFATR IR TSI s1791fT0 32 \3 THA APty Sswena
IR IGOT AT 7R SRR DTS IR ST IR Ty P T0 FRONLA! 2B ST FRA
STV 5Ty SIEHAT TS |

51) LT AT \3 APHT \3US G IO @IAR TRIFO?
v 1) 5891

)

) PieveT
3) TIPT
4) Bt

N

I : MRS 2T \3 GFHT 35 (U TR 5O ORIFO (555K SRk fafeks Geom
AT \3 AFHT 35 (GO GIHEN BT 2T »d fAGR A1 3%b P | QTR BHATER ST ©dd |

52) The girl was reclining ___ the couch.

1) to
2) by



AT : Recline (v) - I GRIT A1 50T I O 91GT Q3R 1 X0 SV Preposition 'on !
I |

53) Which one is the correct passive form of the sentence _ ‘He satisfied
everybody.'?

v 1) Everybody was satisfied with him
2) Everybody was satisfied by him
3) Everybody would be satisfied at him
4) Everybody has been satisfied by him

74T : Passive voice (@ Passive 37K faTd object + subject ¥¥, subject - a7

number, person, tense Q! verb XX verb 43 Past Participle 43 Passive form -
Everybody + was + satisfied with him.

54) 11 ORI (1d ORI (WP QOTR?

AT : J1EAT G (STOIT 2P’ SR (AP AT | (STROR AP (121, 91, 200) ST ATHId GIRORI
O (11,91, Y000) BT 444 | (SO 2ATPD BT (TG WG (TN . 800 - woo ) \3 75 -
JTEP AN (A, oo T.) (AW 1T TEH Be TG 27 |

55) The word ‘Lunar’ is related to ----

vl
2
3
4

) Moon
) Mars
) Sun

) Earth

A : (the moon). The lunar orbit is measured by the moon's revolutions.

56) ‘(TR SICPT ISR Y 12

1) TIOTS TS
2) Qrom1
v 3) =T g¢



4) A

AT 2 '(STRIK SICPT ' O "TART 4| QFd PRIP1E, WG g ISR <13 I QTHd - WRPTed
AN, WG] IO GP , I GRe 3o |

57) Q3D TROIRPR UREH S AR (16 B, O CFAPH Vb8 IS0 I ARSI 3972

M : 4], o P RIGR 3t (0R)F K|

PPIHCO, CFAP = Vb8 ISMALH

1, TS X 2% = Vb8

q1, @ X (OR)F =0b8

T, P = (Vb8 X R) /0 =Y

I, T =D

BI3, 2% YV R 3 TS (0/2)dv = 28 FAGH |

SO, ARSI = (7 + 2F) = (DY + 38) = bo 0K

58) Tt @ADL CAfeTP HRANT?

1) 87
2) 51
3) 63
v 4) 59

AT : YT FRRID ESTE FHLAT 3T . 2, 0, &, 9, O, DV, X4, O, 3, I®, VY, Vq, 8D, 89, 89,
@O, &, Y, LA, ), 90, 99, b0, b, 49, Y0 |

59) TR PG AR ?

v 1)) 9PR
2) 8 2P
3) O ATH
4) ¢ 2P

AT : TR 2 AP | TS - AT RSP TR AR SRR |

60) IR Y-TPT AT (9P PR PO S?

v 1) 53LY



2) Y5>
3) Y»84
4) ¥»ex

AN = B T WA JIREATCR AP0 PO \3 SISO Tl | SdYvy FIER ¢ \3
Y PPN PSR SR TGO R ATERARTP RS (AP SR QNOAT K 7
(U O YO AT o ARSI ARG ARSI TCH “b RPT AR (9P P |

61) Log 5 (1/64) a3 &Iq 072

1) -1/6
2) 6

v 3)-6
4) 1/6

I &

62) ‘Maiden speech’ means-

1) the last speech

v 2) The first speech
3) a speech by a woman
4) the main speech

4T : A maiden speech is the first speech given by a newly elected or
appointed member of a legislature or parliament.

63) What is the antonym of the word ‘Compulsory’?

1) Obligatory

2) Complimentary
v 3) Voluntary

4) Mandatory

AT : compulsory(adjective)- Opposite optional, voluntary.

64) FJE AT CTOI TP \3 (CAIROP TP T ATO-

1) . oo
2)R :9qoo0
3)> :uko
v 4)> 900



AT : ATSAR A (2 CTO TR 54T A5 I AT 8000-35000(51T 9000) |
(RGP TAT CTGR TP ST TP I | FGI A0 CTODITPT \3 (ARSI NPT
YJATO > : Q00|

65) Choose the correct sentence:

v 1) If he works hard, he will succeed.
2) If he works hard, he succeeds.
3) If he worked hard, he succeeded.
4) If he would work hard, he will succeeded.

14 ¢ If clause 9 sub+V1 VP then, sub+future indefinite tense X |

66) ‘ST (W SIG BTG i T’ - the correct translation of this sentence is—

1) It is raining since morning
2) It has been raining for morning
3) It had been raining since morning
v 4) It has been raining since morning

T : Drizzle (v) O SR @f% A1 31 FeFTor I8 2031 | 276 0363 53 translation -

f0 23" It has been drizzling since morning | TSP - option a1 YT TG I ()
SR

67) RTAID B P STeITS?
1) S5

)

2) YIS

v 3) FYETAT
) O™

N

AT "HYHTAT ' Y AT HA O ST | AT ORI BR9PY FA | A1, T, FHP XA DO
ORRPY ST 2T |

68) &1, . IS BT I IRYAR TR TN fTGS 5159 TTE?

1) 6, 8, 10

2)3,4,5

v324238
4)5,12,13

A : 32+42=52
62+8%=102



524+122=132
22+42is not equal to 82

AT : Ty (RO #1%)- 0O IXZ AT, FT |

70) ‘STOTPT AR STAIP X (PIAID ?

v 1) &@od

)

2) a1sf

3) ©rad
) aferd

N

AT : STOTPT - (Pod, AT, KO 534 - SHI-FPFI8 T IR FRGH (TP XT7)

71) AR “STOR SR’ @I TREG?
1) G
v )@Tﬂmm\s
3) XA
)

4@%@1@{

AT 2 Sbr¢ S IRATPT STOR SFISTRK WHTRSNICG o S IREH OF I | ToN
WG TR SAISTRE WRPTIGS \3 SIF15TR AR DI Gl 2 |

72) Find out the correct sentence-

1) He insisted me to go to cinema
2) He insisted in my going to cinema

v 3) He insisted on my going to the cinema
4) He insisted for my going to cinema

I : insist on- w3411

73) ‘A bolt from the blue’ means-

1) An expected person of blue wear
2) An unexpected blue colour



3) An unexpected reward
v 4) An unexpected calamity

A : a bolt from the blue (also- a bolt out of the blue): something important
or unusual that happens suddenly or unexpectedly.

74) fatb3 @Tal0 QSKRG <02

v 1

W N

)

) toe
NG5kl
) T

N

AT : QSIAL X173 FAT fI=of (T T X SN STANAS TR WG 1 LT Il
RO @Y 5129 I, BICR QISAL XTI I | T -21FG, AT, TRAT, TE |

75)5X+5X+5X4+5%X4+5X=307

1) 5 5Xx
7 2) 5 X+1
3) 25x
4) 25 %

ALN:5X + 5X 5% 5% 4 5% =5x+l

76) > (AP 8 NG TP FATH TG 57

YT : Y STARK 5TG = (ST “M+CT 7)1
=(>+8®)R
=

77) IR oo TRod 3T Boaze fer?



JITATT : ATLETRCT \3 BRCOF FET 6 w2 b [Roaae &e | I1eLeTteTR Jedy RO 5550 W1
ORCSA FT AR ¢ o Tebazet myand faet | > Ssht 205¢ ISP \3 RO TEJ
WP PO Braae Ridae Jeed dus B Braaer [Kefs 9 |

78) F&P1 ©I3AT @1 (e SKAYH TORI?

4

N

v

wW

)2

) OIS
) IS
4) SCH R

I ; ToRT (Zika) AT @1 20z BsTOR IR 0 P10 f&T 39 (0T | Y984 ST &P
@ ABTT IR @Y QI AR 39 AOGRIAT SN SR ORI (2 QP T0 ST THP STV
GRS XTANE BT 2 | TAP SIRIETR 27 Y¢S XAGPP0 ST dre Gl 2 TEp
IS |

79) TG o d 363 s1ido 1 Siepcaq ars 57

T : 16 [od TG 5130 SRPIAR A1 IO PRI |

80) INRFH (AORATS FREATAITR FAT T06?

AT 2 LT ST TG (A0 TR | JReIa (AR QTR 2R Vv Od | OIC-
4T TR 4 T, T B0 ub O , T [P Yae T 3 T 261 83 T |

81) ‘o[ JICT JCOT BT QA AR IqeToT (i’ -AMCd ‘ARG’ XD FT WY IR0 AR ?

1) I
2) TR 757
3) SJTHT

v 4) QR

N



AT : "oTRR FICTI TG BT T IO IFTDT GId' - A ARG XTI R T IR
XY | TG @5 ATRR KoM Wy 56 confa PR 10 s TR o fakTom oy |

82) ‘dn’ I STAIYP X1 PIAD ?
S

v 1) 51fRie
2) st
3) fo1fd
4) k251
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90) He talks as though-

1) he is a child

v 2) he were a child.
3) he has been a child
4) he was a child
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93) What is the noun of the word ‘Confess’?

v 1) Confession
2) Confusion
3) Confessionably
4) Confess
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97) He went to bed after

1) he would learn his lessons.



2) he will learn his lessons.
3) he had learns his lessons.
v 4) he had learnt his lessons.
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